Amana ALW210RMC (BOM: PALW210RMC1) 08 - Outer Tub and Pressure
Tube

Amana Residential Amana ALW210RMC (BOM: PALW210RMC1) Washer Parts Parts Diagram 08 - Outer Tub and
Pressure Tube

Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 40001901 Not Available CHANNEL, WATER INLET
2 40111101 Not Available COVER, OUTER TUB
3 40076601 Gasket, Tub Cover
4 40111001 40111001P Tub, Plastic Outer
5 40001102 40001102P Bottom, Outer Tub
6 40045202 Spring, Tall Tub
7 40064301 Screw, 1/4-15 x 3/4 Hex
8 40015901 Assembly Counter Weight
9 40070401 Screw, 1/4-20 x 7/8 Hex
10 40004201 40004201P Main Bearing Assembly
11 40105601 40128701 Screw, 5/16-18 X .50
12 40037801 Grommet
13 40008501 Assembly, Pressure Bulb
14 40054901 596669 Clamp, Manifold

-
[¢)]

40065001 21001748 Hose, Pressure Switch


http://www.pwslaundry.com/c-501343-residential-amana-alw210rmc-(bom:-palw210rmc1)-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10393667-amana-40076601-washer-gasket-tub-cover.html
http://www.pwslaundry.com/i-10393680-amana-40111001p-washer-tub-plastic-outer.html
http://www.pwslaundry.com/i-10393681-amana-40001102p-washer-bottom-outer-tub.html
http://www.pwslaundry.com/i-10393668-amana-40045202-washer-spring-tall-tub.html
http://www.pwslaundry.com/i-10393669-amana-40064301-washer-screw-1-4-15-x-3-4-hex.html
http://www.pwslaundry.com/i-10393670-amana-40015901-washer-assembly-counter-weight.html
http://www.pwslaundry.com/i-10393671-amana-40070401-washer-screw-1-4-20-x-7-8-hex.html
http://www.pwslaundry.com/i-10393682-amana-40004201p-washer-main-bearing-assembly.html
http://www.pwslaundry.com/i-10393720-amana-40128701-washer-screw-5-16-18-x-50.html
http://www.pwslaundry.com/i-10393672-amana-40037801-washer-grommet.html
http://www.pwslaundry.com/i-10393673-amana-40008501-washer-assembly-pressure-bulb.html
http://www.pwslaundry.com/i-10392490-amana-596669-washer-clamp-manifold.html
http://www.pwslaundry.com/i-10392980-amana-21001748-washer-hose-pressure-switch.html

laundry company*

laundry company*

laundry company*



	Amana ALW210RMC (BOM: PALW210RMC1) 08 - Outer Tub and Pressure Tube

